



姓名: _____

日期: _____ 分數: _____

$$4^{(-2)} + 6 =$$

$$(-5)^{(-2)} - (-4) =$$

$$(-4)^{(-1)} + (-4) =$$

$$3^2 + (-5) =$$

$$(-3)^2 - (-9) =$$

$$(-9)^{(-1)} - (-8) =$$

$$6^{(-2)} + 7 =$$

$$4^{(-2)} + 4 =$$

$$(-6)^2 + (-4) =$$

$$1^{(-2)} + (-3) =$$

$$(-9)^2 - (-3) =$$

$$4^{(-2)} + (-9) =$$

$$3^{(-1)} + (-6) =$$

$$(-2)^{(-1)} - (-4) =$$

$$(-10)^2 + (-10) =$$

$$(-4) + (-3) =$$

$$4^{(-2)} + (-9) =$$

$$6^2 - 4 =$$

$$6^{(-1)} + 3 =$$

$$(-9)^2 + (-9) =$$



姓名: _____

日期: _____ 分數: _____

$$4^{(-2)} + 6 = \frac{97}{16} = 6\frac{1}{16}$$

$$(-5)^{(-2)} - (-4) = \frac{101}{25} = 4\frac{1}{25}$$

$$(-4)^{(-1)} + (-4) = \left(-\frac{17}{4}\right) = \left(-4\frac{1}{4}\right)$$

$$3^2 + (-5) = 4$$

$$(-3)^2 - (-9) = 18$$

$$(-9)^{(-1)} - (-8) = \frac{71}{9} = 7\frac{8}{9}$$

$$6^{(-2)} + 7 = \frac{253}{36} = 7\frac{1}{36}$$

$$4^{(-2)} + 4 = \frac{65}{16} = 4\frac{1}{16}$$

$$(-6)^2 + (-4) = 32$$

$$1^{(-2)} + (-3) = (-2)$$

$$(-9)^2 - (-3) = 84$$

$$4^{(-2)} + (-9) = \left(-\frac{143}{16}\right) = \left(-8\frac{15}{16}\right)$$

$$3^{(-1)} + (-6) = \left(-\frac{17}{3}\right) = \left(-5\frac{2}{3}\right)$$

$$(-2)^{(-1)} - (-4) = \frac{7}{2} = 3\frac{1}{2}$$

$$(-10)^2 + (-10) = 90$$

$$(-4) + (-3) = (-7)$$

$$4^{(-2)} + (-9) = \left(-\frac{143}{16}\right) = \left(-8\frac{15}{16}\right)$$

$$6^2 - 4 = 32$$

$$6^{(-1)} + 3 = \frac{19}{6} = 3\frac{1}{6}$$

$$(-9)^2 + (-9) = 72$$